Math122 Quiz #3 29 Sepiember 2011

Name: S@ !U%M 2<€/f/i

Directions: Show all work. No credit for answers without work.

1. The graph of f(z) appears below.
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(a) {1 point] Estimate sthe point(s) x such that f'(z) =
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(b) [2 points] Sketch the derivative f'(z) in the space provided. Your sketch should cap-
ture the important features of f’{x), including the ranges over which f'(z) is positive,
negative, increasing, and decreasing.

2. [4 parts, 1 point each] The quantity ¢ (in thousands) of radios sold depends on the price
p (in dollars). Let g = f(p).

{a) Translate to English: f(60) = 80. Be sure to include units.
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b) Translate to English: f/(60) = —4. Be sure to include units. b
() s £1(60) @gg% prite, nCreadtd

WMM \f‘&e}«ab (cyﬁ ﬁé@ “ﬁw; @%M% §°;4/5{ O?QL[‘WM (ﬁi G #’Zu!ﬂ

4(71 /ﬂwuﬂfmﬁ M@% (1.7 j«
o I}M

(c) Estimate the number of radios sold if the price is $61

Flol) = Heb) +1-04) = 804 {74, g0 Thagaud_codeos]

{d) Estimate the number of radios sold if the price is $58.
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3. [3 parts, 1 point each] Let f(x) = 222

(a} Find the average rate of change in f over [3,4].
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(b} Find the average rate of change in f over [3,3 + h].
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{¢) Use part {b) to find f'(3).
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